HOHHOT MONVA VALVE CO,, LTD. MONVA

MV-14 (1/2"-4")

_1-pc Wafer Flange Ball Valve

» Investment casting for body and cap
Flanged ends:1/2"~2"(PN16/25/40): DIN2543/2544/2545

o 2-1/2"~4"(PN16): DIN2543
Pressure rating:1/2"~2": PN16/25/40
m 2-1/2"~4":PN16

s Working temperature: —25C +1807TC
Material: CF8M, CF8, CF3M, WCB

s BEHE—RNRERXNZEZ=EkE
SEZERAE: 1/2"~2"(PN16/25/40): DIN2543/2544/2545
o 2-1/2"~4"(PN16): DIN2543
NEREH: 1/2"-2": PN16/25/40
. 2-1/2"~4": PN16
s T{EBE: -25°C +180°C

12 13 14 15 16 17
|\ N N W
11 PRESSURE-TEMPERATURE RATING
-25 38 93 149 204 260 T
700 48
600 pLE=2- a1
. _ ;E 500 \\ 35 %
.___l_ =~ 400 \\.\ 28 ~
0 =8 — > L
] o4 4 0C 300 AN 21 (T
% - e i -
? T e ey
d | 200 [~ AN 14 @
8 B E alo 1 E ~ N ﬁ
! T 100 1 7 @
5 o
?’ -]
;,,f % 4 -13 100 200 300 400 500 °F
5 | - TEMPERATURE
M~
| k r
f |l
=l - MATERIAL LIST
4 ] ITEM|  PART MATERIAL | QTY
1 Body CF8M 1
2 Cap CFEM |
3 Body Gasket PTFE 1
4 Ball SS316 1
5 Ball Seat R-PTFE (15%) | 2
I1SO5211 6 Stem SS316 1
7 Thrust Washer PTFE 1
8 O-r1ing VITON |
DIMENSION LIST 9 | Stem Packing PTFE 1
sizE| d [ L [ Do | f[u|w]c|isos2ii]|zm[Nm| Kes 10 | Packing Ring SS304 l
DNIS| 15 | 36 | 95 [ 65 [ 45| 11| 2 |89 |117| 9 | Fo3/Fo4 [a-m12| 5 | 121 11 |Bellevlle Washer SS301 2
DN20| 20 | 38 [105| 75 | 58 | 11 [ 2 |94 [117| 9 | FO3/F04 [4-M12| 8 | 1.53 12 Nut Stopper SS304 1
DN25| 25 | 50 | 115| 85 | 68 | 12 | 2 | 90 |164| 11 | Fo4/F05 |4-M12| 10 | 1.95 13 Nut SS304 2
DN32| 32 | 53 | 140 (100 78 | 14 | 2 |100]|164]| 11 | FO4/F05 |4-M16| 14 | 3.10 14 Plate Washer SS304 5
DN40 | 40 | 65 | 150 [ 110 | 88 | 15 | 3 |105|203| 14 | FO5/F07 |4-Mi6| 18 | 4.18 .
15 Lock Device SS304 |
DN50 | 50 | 78 | 165 [ 125 | 102] 16 | 3 |125]|203| 14 | FO5/F07 |4-M16| 25 | 5.37
DN65 | 65 | 98 | 185|145 [ 122] 16 | 3 |140|255| 17 | FOT/F10 [4-M16| 48 | 10.10 16 Hf‘ﬂdle 553{:14 1
DN80 | 76 | 118 | 200 | 160 | 138 18 | 3 |145|255| 17 | FO7/F10 |8-M16| 75 |12.30 17 Plastic Cover Plastic 1
DN100| 94 | 140 | 220 | 180 | 158 18 | 3 | 175|302 17 | FOT/F10 [8-M16| 110 | 19.40 18 Stop Pin SS304 |




